EXERCISE 1.2

Q.1 S.ol\:e the following equations using —8+211
quadratic formula: = —16—
(1) 2 -x2="7x
Solution: 2 —x2=7x x:Z(—A'i\/ﬁ)
1x2+7x-2=0 M5
As  ax’+bx+c=0 X_—4i\/1_1-
= a=1, b=7, c=-2 5
Using Quadratic Formula Seliifi £ —4+11
olution set is s ————
—b+\/b2—4ac 5
di) V3 +x=43
+\/ -4 (- Solution: V3 x> +x =43
2(1) B x2+1x-43=0
—7+/49+8 As ax’+bx+c=0
ST, = a=Y3 , b=l , c=-43
Using formula
—7++/57
B _ —bx++/b*—4ac
2a
. . |~g/57
Solution set 1s {—2—} —lt\ﬁl)z—4(\/§)(—4\/§)
%=
() 5% +8x+1=0 243
2
Solution: 5x*+8x+1=0 —1i,/1+16(\/§)
As ax’+bx+c=0 x= 2\/5
> gi=b b=8 e=1
’ . -1+ /1+16(3
Using formula X= u: G)
—b++/b* -4
e 2b 4 _—1+/1+48
a e B M S
2 2\/5
—8+(8)" —4(5)(D) ~1£+/49
X = ——
2(5) 23
-8+64-20 X_—li7
X= =
10 23
_ —8+a4 . s A .
L 2.3 2.3
4 3
_ —8++/4xll - _X o S f{
T 23 5




— 3
X=—F¢= or X =

NS NE)
=2 or x=\3 L a
. i 4
Solution set is {\/3: —z
(iv)  4x’-14=3
Solution: 4x* —14 =3x
4x*-3x-14=0
As ax’ +bx+c=0
= a=4,b=-3,c=-14
Using formula
x.z-bi\/bl—élac
2a
()3 -4 @) (-14)
2(4)
_3+/9+224
s
Solution set 1s {E%gi}
(v) 6x*-3-7x=0
Solution: 6x°-3-7x=0
6x*—7x-3=0
As ax*+bx+c=0
= a=6 , b=-7, c=-3
Using Formula
—b++/b* —4ac
*= 2a
(1) -4(6)()
. 2(6)
7+49+72
2

12

X=— or

X=— or
Solution set is {%1, %}
Vi)  3x*+8x+2=0
Solution: 3x* +8x+2=0
As ax*+bx+c=0
= a=3 , b=8 ,c=2
Using formula

~b++/b*—4ac

2a
—8+(8 -4(3)(2)
2(3)

—8+-J64—24
6
—8++/40
6

—-8+/4x10
6

—8+2410
6

Z(-4x10)
53
—4+4/10

3

—4&@}
3

X =

X =

Solution sct is {




(vi) —— =1
X—-6 x-5
Solution: > __4 =1
X—=6 x-5
3(x=5)-4(x-6) _
(x=6)(x-5)

3(X=3)—4(x—6)=(x-6)(x—9)
3X=15-4x+24=x"-5x—6x+30
—Ix+9=x"-11x+30
X =11x+1x +30-9=0
x> =10x+21=0

As ax® +bx+c=0

= a=1, b=-10 , c=21

Using formula:
x:—bivb2—4m

2a
~(-10) £ /(-10) = 4(1)(21)
2(1)

__10£/100-84
2
_10+416
-2
104

X =

= x=5+2 or x=5-2
x=7 or x=3
Solution set is {3, 7}

X+2 4—x_21
x—1 2x 3

X+2 4—x=21
x—1 2X 3
(x+2)2x —(4=-x)(x-1) _7

(x =1)(2x) 3

(viii)

Solution:

(2x*+4x)—(dx—4-x"+x) 7
2x% —2x 3
2x2+4x—5x+4+x3=
2x* —2x
3ﬁ—x+4_z
2x*-2x 3
33x*—x +4)=7(2x* - 2x)
9x% —3x +12=14x*-14x
= 14x>-9x> —14x+3x—12=0
5%x2-11x—12=0
As ax’+bx+c=0
= a=5, b=-11, c=-12

Using formula:

7
3

= —b++/b* —4ac
| 2a
. f(—l])i\/(ull)z —-4(5)(-12)
B 2(5)
‘= 11121+ 240
10
= 11++/361
10
11+19
x:
10
11-19 11+19
= =" or X =
10 10
-8 30
X=— or X=—
10 10
4
X=—— or Xx=3
5

Solution set is {3, —}—4}



) a b
(ix) + =2
x-b x-a
~ . b
Solution: + =2
x—-b x-a
a(x—a)+b(x-b)
(x=b)(x-a)
ax—a +bx—-b- _9

x* —ax —bx +ab
ax —a’ +bx —b’ =2(x* —ax — bx +ab)
ax—az+bx—b2=2x.2—2ax—2bx+2ab
2x* —2ax—2bx +2ab—ax+a*—bx+b* =0
2x* —2ax —ax —2bx —bx +2ab+a’*+b> =0
2x* —3ax —3bx+2ab+a’ +b’> =0
2x* —(3a+3b)x + (a® +b* +2ab) =0
2x*—(3a+3b)x+(a+b)* =0
As Ax*+Bx+C=0
=  A=2,B=-(3a+3b) ,C=(a+b)’

Using Formula

—B++/B*—4AC

mo 2A
_—[-(a+3p) % \/ [-(3a+3b) ] —4(2)(a + b)>
T 2(2)
+3a+b) [ [-3(a+b)] ~8(a+by
*= 4
2 2 2
3(a+b)i\ﬁ(—3) (a+b)] —8(a+b)?
X =
4
3(a+b)++/9(a+b)* —8(a+b)’
X =
4
-3(a+b)i\/(_a+b)2
- 4
3(a+b)t(a+b)
X = 2
J(:B(a+b)—(a+b) 0rx=‘3(a+b)+(a+b)
4 4
‘ 4(a-+b
_2a+h) o o Hatb)

4 4

a+b
x=%—— or x=a+b

x=%(a+b) or x=a+b

|
Solution set is {(a +b), ;(a + b)}

(x) —(l+m) -2+ 2U+m)x=0, L£0
Solution: — ({+ m) - &2+ (2 +m)x=0, {0
= (C+m)+ x> —2L+m)x =0 032

= Ix—(20+m)x+({+m)=0

As ax> +bx+c=0

= a=/{,b=—=(2f4+m) , c={+m
Using Formula

~bxb* —4ac

X =
2a
—[—(2f+m)]i\[[—(2€+m)]2 —4(0)(¢+m)
X=
A4 ,

@ermyzy(-1) 20+ m)P—40(2+m)
e 20

~ (21;’+m)i\/(2£’)2+(m)2+2(2f)(m)—-4{’2 —4/m
e 2
. (204 m) 4 467 +m® + 4em — 47 — 4o

- 20
o (20+m)+m?

2/
= (20+m)Etm

- 2U
(2o 2emem
20 20

,2‘8/ _ 20+ 2m

X:—)z or X Y,

x=1 or X =M
Zt
(+m
X =
(
Solution set is {1, f+cm]r



